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Birkénweg 39

Finfraumwohnung

(falls Dachstock ausgebaut, 2 weitere Riume)

~

Erdgeschof - gm
Spiilkiiche 1,95 x ‘3,60 - 0,43 x 0,26 2. 6,91
Wohnkiiche 3,30 x 3,60 = 11,88
Windfang 1,15 x 1,10 , = 14,27
Zimmer 4,35 x by~~ - 1,30 x 1,16 = 15,89
- EG = 35,95
= 3 % = 1,08 3‘*3‘87
I. Obergeschof
Ki.Schl.Zi. 4,85 x 4,10 - 0,50 x 0,26 ‘= 19,76 -
Flur 0,90 x 3,75 + 0,90 x 1,-- = 4,28
Elt.Schl.Z. 4,85 x 4,60 = 21,83
I.OG = 47,22
! =3 % = 1,42 45,80
DachgeschoBl ausgebaut
Kammer 4,30 x 2,99 + 1,12 x 0,75 - 0,50
x 0,26 = 13,57
Flur 0,90 x 3,75 + 0,90 x 1,-- = 0,99
Kammer 3,34 x 3,39 + 1,15 x 0,75 = 12,18
- DG = 23,74
-3 % = 0,82 25,92
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